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AB:DB=AC:ECO|BE26:2=9:y
y=3

Lxt+y=11
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Th 19894 BD &= aABC 9] $410]1 BP = PD ©|t}. AABC 9]
Wol7t 24em? & W, AAPC 9] Wol=?

A
P
B C
® 8cm? @ 10cm? ®)12cm?
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B

1 1
AABD = §AABC , AAPD = EAABD ojt}. AAPD =

%AABD = zllAABC = ix 24 = 6 (cm?) °]EE AAPC =
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10. o2 1389 A7 ABC 9 ZAA A o4 HH BC o U
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13. thg 123} go] gL
GI7k A2 tgals Woltt, thg % £4
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S15-
D) H ~:9/ I
// \\\ J)\
E ARl CEERN) §
O F2H|= 53 o]t} @ ADEF 0 AJKL
® /ABC = /GHI @ HI G Gl
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14. o2 292 AHZ4P ABC 9 BZAH A7 RIBC 919 A E ol o ==
H& ZAo|t}y. AF = 7cm, BE = 4cm, AC = 12cm € ©], BD ¢ AD
o] Zo]o] 27
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B C
4em’E
4 32
@ 122(:111 @5cm ©) & cm
@ Ecm ® 0cm

S5 ~
th2 1319 ABED ¢} ACFE ©J| A
/BED = /CFE
(B=/=60°--0
(BED + /BDE = 120°
/BED + /CEF = 120° (" /DEF = /A =60° )
. /BDE = /CEF ---©
A

“4emE - ~8em--~

@, ©°ll4 ABED ¢ ACFE

AF =EF =7 (cm)
FC=12-7=5 (cm)
BE:CF=DE:EF°|E24:5=x:7

28
ox = 28 LoX=—=
X X 5
- 28 32 — 28
BD—].Q—E—E (cm), AD—E (cm)

w2} BD 9 AD o olel Ak T -2 = 2 ot




15. th& 19 % DE//BC A AL 5 714 n2w?
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® DE//BC 2, AB : BD = AC : CE o]t}
4:2=6:3°]22 DE//BC ©|t}.
@ DE//BC 2t4, AE : EC = AD : DB °|t}.
3:9=2:6°]22 DE//BC ©|t}.
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AABC oA AE & /A 9] o]5 B Ho]1
AC//DE o]tf. AB =38, AC =129 o,
DE 9] 4o|&?

@D 6 @ 24 ® 10
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wo] A= WA 1, x4 4y ©] LI
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18. o2 I9HoA H G = aABC 9 FAIFAIY H G’ 2 AGBC ¢
BAZAoltt, /BGC = 90°, BC = 18cm ¢ o, AG” ¢] Zo]x?
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AGBC °|A4 GM = BM = MC = 9(cm) & G'2 aGBC2| &
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